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Fi¥E 240 &HH L2858
No. K% il B A4 I =B faE
33 E‘;}E bi:/) #8IZE— KRR — MOER (1) 1.57.55 2
28 ;;&’_39 %\:"7’ EER(E1) 1.57.29 1
31 j/%fi léi HBIRE — KR — MMER (1) 1.59.01 4
22 ‘Jjé }a\% REDER(h3) 1.57.86 3
24 ;;%”?E@ SR (E2) 20622 5
No. FE% i @R L BIE mE
34 m?%fgj Vortex (h2) 1.53.14 1
32 ;J:/ ;I'—%‘j;_:;?_e HBINRE— R —MMER (1) 2.03.05 5
30 j:ljjf ;;; #BIIZE— KRR — MOER (1) 1.53.22 3
26 ;ffu 7‘:51 SR (E2) 1.53.17 2
23 ’ggﬂ *;/H_ SRR (h2) 1.53.50 4
—fi% ZF 1000m
RRS
No. FE% i @R ML BIE mE
34 mﬁf%f;’ Vortex (h2) 34 15199 1
26 f;}@” 7':;& SRR (S2) 21 15212 2
28 ;;&’_39 %’"7’ EER(S1) 15 1.52.41 3
33 5N ZY HBIRE — KR — MMER (1) 8 1.52.77 4




